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�� ذو رأس ��ا�� 1  8�� M12.50     رة���  
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�#ISO 4032-M12    رة���  

6  1  
���w 12   رة���  

  ���رة      M 12)�و'&    1  5

   GC22  أآ�ة   1  4

   C18  ��ق   1  3
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6�7
  �دةـــــــــــ
  ــــــــ4�5!!ــــــــــــ  ��د  ر2/ 
  

b2 b1 a d 

6  10.8  18  M12 

k s Pas d 
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  - 6/ 3 -ا�-$&'  

 ��B ا�
ـــــ�ارد  

 و.=دة ا.��ا@�' 

   ",��D �ول  ا�



  : ا	>;�!. ا	":!�9 -
  ا	?�ص ��	":!9
 ) A-0(  أ��/ ا	�?<& ا	":!�9 -1


 	���Eز؟!	��(Fا   

  

  

  

  

  

  

  

  

  

  %Q ا�����$ ؟  ا��dص '��,أ��H ��ول ����$ ا�
N\ت -2

Q%,ا�  $;N
  ا������M  e$ ا�

)1(-)2(      

)2(-)3(      

)4(-)3(      

  

3- Fآ�    ؟  أ��H ا��&H ا��F%�%d ا�#

  

  

  

  

  

  

  

4-   FX�Z
  ا����1 >;: ا��&H ا����F ؟ "  A"  ��(* ا�0�ط ا�

  �� ���M$  أو دور ه�ا ا�0�ط ؟  : 4-1

-.   ..............................................................................  

  ا�O' $N�d ؟ >;: ا��&H ا����F  أ�e2 &;�;$ ا�'��د :  4-2

  "A"أآ�= ���د�$ ا��;�;$ وأ��S =�T$ ا�0�ط  : 4-3

  A1 = 40 ± 0.1  ،    A2= 20 ± 0.1:  >;�� أن 

A8 = 50  ±0.1  
  

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  : آ"=E' �,=د�' ا�����' 

Amax = (A1max+A2 max )- A8min   = 10.3  

Amin =   (A1min+A2 min )- A8max  = 9.7   

A= 10 ± 0.3 

 5- �T ت�,iا
  ��(* ا��
ا7i اF�k '�* ا�,%Q: �ب ا��


�Nت ا�����$ ؟   Ø 20 H8 f7) 3(و) 4 (;dا� =�Tأ    

�ون     :�:89' )����' $�&�&��ا�iت ا#�Pا)µ . (  

  

  

  

  

Jeu min   =          0+20 = 20 µ   

Jeu max =        33+41 = 74  µ 

5-2 –N
;� 7iا

ع ا��
ا7i ؟ �� ��  F  


�F -ب�
  :  ا��#;�� ا��(-

6- Q%,ا� *�' Fآ�T O��
� H�n4( و ) 3( ا&���� ا��:(  


ع ا��
��O ا�#�آF ا������� ؟  : 6-1� ��  


��O دورا�Pe�P�' Fق �.  

6-2 :  �� 
  ا�#� اF8�0�p ا��ي ا&���;O ؟ ه

 q;أ� ��#�.  

  

     

 أآ�ة ��ادة �;��ــــ
ر

 

20 H8Ø  20 Ø 
+33 

0  

 20 f7Ø Ø 20 
  

-20 
-41 

  - 6/ 4 -ا�-$&'  
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   ا�#�آF ؟��O هF &;���ت ه�ا ا��

- � =&�-G P  $���< $<��' Fآ�T O��
.  

  .  �uآ� &%
ح ا��Q��2 ���2$ ا�TP(�ك -

  �� ه
 ا�#� ا��-�&= Fi رأvG ؟  : 6-4

�آF '�&����ل �#�� '
&�دة ؟ -T O��
�   

� ����* ا��
اد ا��x�-N F �-�� ا�,%Q ا�����$ ؟ -7�i   

   GC 22) : 4( ا�,%�$  •

� ��eوج �W $��
S =;N ي
�#G 0.22 %  ن
'� .�* ا�(

   EN-GJL-200) : 1( ا�,%�$ 

 ، F#8�XN F��iا�W � �,�و�$ ا�����  �\�(��ر 200زه

 ����' )N/mm2 (   


ل >;: ��م ا�,%�$ -8n#ب ا�
  ) 2( �� ه
 أ&;

  $'��pر ا�' .  

  .أ&;
ب  ا�,
��$  �(� ا�,%�$  ��آ=  -

9- $�%,;�  $�X�Z
2( ���G ا��2ز ا��%
ح ا� ( $�S�  وا��


ا&%$ ا��P| :;< ��_0ت N-�>�$ ) 3( >;: ا�0(� '  .  

   

  

  

  
  
  
  
  
  
  
  
  
  
  
  �� هF اPkت  ا��%
ح ا����S$  �����-� '{�(�ل-9-1

�ا � F�2زهــــ� ا���P $�&�-� ؟ه�   

  |�$ 9,=               : ا��%] 

�eG : ا��%]               X� $�|  

�eG : ا��%]               X� $�|  

  
 >�* >;: ا��2ول  } )2 (-) 1({ ��%
ح  �2�Pز ا-9-2

  .ا�داة ا��-�&�$  �Q ذآ� ا&���  �* '�* ا�دوات ا�����$  

 
 

       
  

      
 
 
 
 
 
 
 
 
   
  

  
  
9-3 – Q%,وط ا��  . ��Tب �

                        

 ا	�وران ��� H1أ� "N"  
'JK<	ا 
   "A"و���

  
  L>1	ز ا���M� 
  : ���� أن )  1(ا	?�#

 .KN�	ا L>1	2<� ا  :D = 13 mm     


 ا	�<O ا	?�#
 ��	��دة���:  Vc= 20 m/min   


 ��	�ورة  'JK<	ا   Vf= 0.2 mm/tr  
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 ج ب أ ج ب أ
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 .................................................: ,= اH&P وا�;



 )2(ا���� 

  
  

  

         ا���ــــــــــــ�ن ا����ة ا����ة                       ر.ت.2: ا�����ى 

  
  
  

  �ر  ــــ�ة ��اد� ����ـــأآ : ا�
���ع
  

�ة ��ا ������ ���ز �� ا���
ر أو 	�� ����� ���  �-,� ا�#�آ$ '�* ا��(�ات '
ا&%$ ا���
ر �#��ج �!�� ��ة ه�� ا

2(,��ح درا&$  ه�ا ا���1ز وا����0  أد��� '��.(� �    . (  

  

��� ب 
  :ا�

   :ا�"&���  ا��%�$�  وا�"�!��� �  -أ

 78�9
   } 5/6 – 4/6{ أ�= �����ة >;: ا�


�' وا�"(�)$�'  -ب�
   : ا�.-,�'ا��را+' ا�"*

    

   

    

  

  

  

 1&�)� ا�
ــ�0/

  - 1/6 -  ا�*$&'

  !��"�# 

   ) ه&�-! ��'�"�'�! (–ا��*�ر () ��دة ا��'&���%�� 
  

 $,�9
   أ��F;G �� H ؟ 6/6>;: ا�

3( ��
KG ا�
J;$  '�* ا���ق - 1 (  


�$ &�ا&�$ ) 1(وا�#��� ��J ل����&�'  

 ISO4032-M12  آ�$ >;: ا���ق��)3. (  


رة '�* ا���ق -2#��� $;J3(�#,�7 و (  

  '�&����ل و&�دة أ&%
ا��$ ) 4( وا�آ�ة 

ISO 2795 – 20x26x32    


&�دة '�&����ل  -3;� $���,��Oآ$ ا� �-P ا�#

 $J��  Q�R
� $,;S      :10x30x2.5 

 F&أس &�ا�'  FV�   ISO4017- M 8x16   و'

3(��آ= >;: ا���ق (  

4- �� �-��� FWG�  .F;G  أ��H ا��&H ا���

-  $�W�Y
  ا�'��د ا�

  ��Sت ا��-�&�$ ا��� -

-  Z%ا�� $�
.� $�[< 
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5.3  13  1.25  M8 

  - 6 /3 -  ا�*$&'

 ��8 ا�
ـــــ�ارد  

 و+:دة ا+��ا�9' 



  : ا	>;�!. ا	":!�9 -
  ا	?�ص ��	":!9
 ) A-0(  أ��/ ا	�?<& ا	":!�9 -1


 	���Eز؟!	��(Fا   

  

  

  

  

  

  

  

  

  

  ص '��,%P ا�����$ ؟  ا�`�أ��H ��ول ����$ ا�
J]ت -2

P%,ا�  $;J
  ا������b  c$ ا�

    ا������$ . و  )2(-)1(

    ا������$ . و  )3(-)2(


رة . و  )3(-)4(#���    

  

3- Fآ�    ؟  أ��H ا��&H ا��`%�%F ا�#

  

  

  

  

  

  

  

4-   FW�Y
  ا����0 >;: ا��&H ا����F ؟ "  A"  ��(* ا�.�ط ا�

  �� ���b$  أو دور ه�ا ا�.�ط ؟  : 4-1

- f� $�%,ا� g��0� *��)2 ( :;<)1 ( �h-ا&%$ ا��
')8. (   

  >;: ا��&H ا����F  أ�c1 &;�;$ ا�'��د ا�`�i' $J ؟ :  4-2

  "A"أآ�= ���د�$ ا��;�;$ وأ��R =�S$ ا�.�ط  : 4-3

  A1 = 40 ± 0.1  ،    A2= 20 ± 0.1:  >;�� أن 

A8 = 50  ±0.1  
  

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  : آ":;' �(:د�' ا�����' 

Amax = (A1max+A2 max )- A8min   = 10.3  

Amin = (A1min+A2 min )- A8max  = 9.7   

A= 10 ± 0.3 

 5- �S ت�,lا
  ��(* ا��
ا7l اF�n '�* ا�,%P: �ب ا��

    أ�S= ا�`;
�Jت ا�����$ ؟   Ø 20 H8 f7) 3(و) 4 (

�ون     :�<=>' )����' $�&�&��ا�lت ا#�Oا)µ . (  

  

  

  

  

Jeu min   =  0+20 = 20 µ   

Jeu max =  33+41 = 74  µ 


ع ا��
ا7l ؟ – 5-2� �� FJ
;� 7lا
�   


�F -ب�
  :  ا��#;�� ا��(-

6- P%,ا� *�' Fآ�S i��
� H�h4( و ) 3( ا&���� ا��:(  


ع ا��
��i ا�#�آF ا������� ؟  : 6-1� ��  


��i دورا�Oc�O�' Fق  -�.  

  �� ا�#� اF8�.�r ا��ي ا&���;i ؟  : 6-2

-  s;أ� ��#�.  

  

  
�  	�� ��ة ا���

��&  
  


�  ر

��&  
  

 ���د

  C:ز �A@ ?�ة ا����

$�;!< $R�b 

20 H8Ø  20 Ø 
+33 

0  

 20 f7Ø Ø 20 
  

-20 
-41 

  - 6 /4 -  �*$&'ا



6-3 : ��
   ا�#�آF ؟��i هF &;���ت ه�ا ا��

 -  $���< $<��' Fآ�S i��
� =&�-G O.  

  .�vآ� &%
ح ا��P��1 ���1$ ا�SO(�ك   -

  �� ه
 ا�#� ا��-�&= Fl رأwG ؟  : 6-4

�آF '�&����ل �#�� '
&�دة -S i��
�     

� ����* ا��
اد ا��g�-J F �-�� ا�,%P ا�����$ ؟ -7�l   

   GC 22) : 4( �,%�$ ا •


ي �#G  وجc�� ��V $��
R =;J0.22 %  ن
'� .�* ا�(

   EN-GJL-200) : 1( ا�,%�$ 

 ، F#8�WJ F��lا�V �  �,�و�$ ا�����  �]�(��ر200زه

 ����' )N/mm2(    


ل >;: ��م ا�,%�$ -8h#ب ا�
  ) 2( �� ه
 أ&;

  $'��rر ا�' .  

-   $��
  .�(� ا�,%�$  ��آ= ، أ&;
ب  ا�,

9- $�%,;�  $�W�Y
2( ���G ا��1ز ا��%
ح ا� ( $�R�  وا��


ا&%$ ا��.[�� >;: |Oت J-�>�$ )  3( >;: ا�.(� ' .  

   

  

  

  
  
  
  
  
  
  
  
  
  
  
  �� هF اOnت  ا��%
ح ا����f' �-�����  $�R(�ل-9-1

�ا � F�1زهــــ� ا���O $�&�-� ؟ه�   

 Z%9,=              : ا�� $�|   

            Z%ا�� :   cG�W� $�|   

               Z%ا��:cG�W� $�|    

  
 >�* >;: ا��1ول  } )�1�O  })1 (-) 2ز ا��%
ح -9-2

  .ا�داة ا��-�&�$  �P ذآ� ا&���  �* '�* ا�دوات ا�����$  

 
 

       
  

      
 
 
 
 
 
 
 
 
   
  

  
  
9-3 – P%,وط ا��  . ��Sب �

                        

 ا	�وران ��� H1أ� "N"  
'JK<	ا 
   "A"و���

  
  L>1	ز ا���M� 
  : ���� أن )  1(ا	?�#

 .KN�	ا L>1	2<� ا  :D = 13 mm     


 ا	�<O ا	?�#
 ��	��دة���:  Vc= 20 m/min   


 ��	�ورة  'JK<	ا   Vf= 0.2 mm/tr  

    
    
  
  
  
  
  
  
  
  
  
  
  

 D�  ا+7 اEداة   F��)1 اEداة  ا��

  
   

  9,= .أ

    
�cG . أW�  
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3 
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 ) 2 (ا���� 

1 

2 

3 

1 

2 

 ج ب أ ج ب أ

N = 489.95 Tr/min  

A= 97.99 mm / min 

  - 6 /5 -  ا�*$&'
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  - 6 /6 -  ا�*$&'
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  ا�����Sت ا����$ -


